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MID TERM EXAMINATION (2024-25)
MATHEMATICS - Class VIII

Name of the student: Date:
Time Allowed: 2 ¥ hrs M.M. 60
/
General Instructions:
i. This question paper consists of 27 questions in 5 scctions. h
ji. Section A: Question No. 1 to 12 arc multiple choice questions of 1 mark cach.
f 2 marks cach.

iii. Section B: Question No. 13 to 16 are short answer type I questions © "
iv. Section C: Question No. 17 to 22 are short answer type 1{ questions of 3 marks cach.
Section D: Question No. 23 to 24 are long answer type questions of 5 marks each.

V.
vi. Section E: Question No. 25 to 27 arc case study-based questions of 4 marks cach.

vii. All questions arc compulsory.
SECTION A (1 X 12=12)
1. Ifaand b are positive integers, then the solution of the equation ax = b will be always
2
-b) negative c) one d) zero

a) positive

2. Which of'the following cannot be a perfect square?

a) 841 b) 529 )198 d) 144
3. The one’s digit in the square of 23 is
a)6 b) 7 )3 .,nu/

If x be any integer different from zero and m be any positive integer, then x™ is equal to
-1
a) x™ b) —x™ oL e

5. ABCD is a quadrilateral in which AB =5 cm, CD = 8 cm and the sum of anglc A and angle

4.

D is 180°. What is the nam/i of this quadrilateral?
ﬂ,BﬁjTrapezium c) Rhombus d) Square

a) Parallelogram
ocal of the reciprocal of a rational number?

6. Which of the following is the recipr
a) -1 b) 1 c)0 #The number itself
7. The next two numbers in the number pattemn 1, 4, 9, 16, 25 ... are
a)35, 48 ﬁ)é. 49 ¢) 36, 48 d) 35.40
1
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8. Assertion (A) — Natural numbers are compmygative for subtraction
‘ ition ¢ iplication
Reason (R) - Rational numbers are commuytative under addition and multiplicatt
a) Both A and R are true and R is the correct explanatjon of A

b) Both A and R are true but R is not the correct explanation of A

c) A is true but R is false
~d)";3: is false but R is true
9. Write the rational numbers that arc equal to their reciproctls:
10. The square of 5.5is_ =,
11. The cube of 0.3 §s /./ '/ - .
12. Match the following

1) yxyxy N ")a) y \
> | D l
(2 X 4=8)
SECTION B

=2 i i Fthe equation.
13. Given the linear equation 5(2x=3)+7=3(4x+1), check whether x=2 is a solution of the equ

14.Name the property used in each of the following.

7 -3_-3_ -7

3 T17*F 5 11

_2f 2, ][ 2x2]4[ 257 ]
? -EX[Z+?]—[3X4 3 2

1[4, (-4)]_[L sHi]
2 §+[§+("3—)J'[3+9 3

' 2 _ D

Q
15. Check whether 46656 isa perfect cube or not?

16. Express each of the following in standard form:

a) Mass of a molecule of hydrogen gas is about 0.00000000000000000000334 tons.
b) Pluto is 59,1,30,00, 000 m away from the sun.
SECTION C (3 X 6=18)
17. Solve and check the following equation:
15(y = 4) 2y =9 +5(y +6) =0
i
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18. The adjacent figure HOPE is a

’ parallelogram, Fj and z. State the
properties used to find them. ¢ £ theanglo measurc x, ¥

19.A diagonal and a side of a rhombus are equal in lengti. Find the measure of angles of the

rhombus.
20. Find the smallest perfect square divisible by 3, 4, 5 and 6

21. What is the least number that should be subtracted from 1385 to get a perfect square? Also find
the square root of the perfect square.

m 3 -
22.1f _sxs_“sxsz = 512 find m.
SECTION D (5X2=10)
23. a) Using appropriate properties, find:
2,23 1 3.3 )
X 12 X
-5
b) Let a, b, ¢ be the three rational numbers where a = %, b= -2:, andc= =B

Verify: ax(bxc)=(axb)xc (2)
24. a) Find the smallest number by which 704 must be divided to obtain a perfect cube 3
b) The volume of a cube is 512 cubic meters. Find the length of the side of the cube. 2)

SECTION E (4 X 3=12)

25. During dance practice in a school 6570 students of different schools are arranged in rows such
that the number of students in each row is equal to the number of rows. In domg 50, the instructor
finds out that 9 children are left out. '
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a) When arranged for a dance, number of students in ¢4
fthe SqUAre.

Find the number of children in cach row o

b) How many students werce lelt out in the arrangem
ing the squarc?

¢) What is the number of students form

24X 53)

P

26. Anita is working on a problem ( 108

expressing large numbers i

. ) 24X 53
a) Simplify the expression: (——1'55"'
4y 53

2°X5 ?

b) What is the value of (
103
¢) 1fax10"is the standard

27 A landscape architect i
each shaped like a qu
quadrilateral sections labelled as A

and sides are given.
 Quadrilateral ABCD is a paral

e Quadri

adrilateral. The di

lateral PQRS is a rectangle W

% 107% thati

% 10

form of the final resu

s designing a small ga
agram below sh
QRS and WXYZ. The measur

BCD, P
lelogram with AB=8m, BC=5m, an

ith PQ=6 m, QR=8 m.
th WX=6 m, and 2 WXY=60"

mber of rows.
(2)
(n
(1)

ch row arc cqual to nu
ent

avolves exponents, powers. and

n the standard form.

(2)

-6
(1)
(1)

It of part a), what is the valuc of 0

rden. The garden is divided into different sectlions,
ows the tap view of the garden, with
ements of the angles

d £ABC=70".

. Quadrilatcral WXY?Z is a thombus Wi
: B R ' a =
\ Y W
S P
Z
a) In quadrilatcral ABCD, since itis2 parallelogram, calculate the measure of 2BCD and £DAB .
write the properties of parallelograms that you used to find these angles. (2)
QRS, find the length of PR. (1)
(1)

b) In quadri[atcral r
¢)In quadrilatcral wXY

Z. find the length of XY.
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